887373 = mLNNN MHIINDN

»YPN

MOMI VY NIV, PVNNN MIANDN - 887373 DNPA JNAND 1NN DIDD PND
PONA 5510 O1PON IPPKR7I2 NVXDIIINI NYVYN "M HY 2 10ND D 1TV
MORY YN PN, DPMNNM NN DNHNIN DVIYNN Y5 NV NN NYNIN
D) 15 MDD DI NNN MXNDN §T NADID ,DIRIND JPTININ JNIANN PO

.DMPA Y 2INN MINKINN MDD DY D»DIAN MNINSN

Mutual RepliesQgmail.com S8 myTin NOv ,mayno

Doavn 1

1019990 91250) vavn
M%) FPOID MNY DY NMIYONN-MY DMON-NYa 0»Ipn oanwn X+, X5H, ... v
7N Var (X,)=1,E(X,) =025

X1+ + X,

7 4 N(0,1)

PTI) NN

M9 Y, 5 N (0,1) mond o 199
Fy, (t) — @ (¢)

n—oo

N1 JIPYY NN

oy, (t) = en1) (t) =€ 2



09PN

vy, (t) = Efe vn = el= =E

- o (- (e () -

5 20 DV .DNINYNN DY MONTINI NYNNYN %71 IUND

(&)

X t
—1 Vvn He J\/ﬁ *

t
nln | 1— > (14—0(\/5))
o, =€ — lim o, =€
n—00
IUND
B = lim nln (1 - ﬁ <1+0 (t)>) ={ln(l4+z)=x+o0(x)} =
n— o0 2n n
~ lim n(_” (Ho(f)) +o(f2 (H(t)))) _t
n—oo 2n Vn 2n Vn 2
D
A2 D190 HY WHNN PIND) vown
E[X;] = p < 0o n9MN oy ,mn9ann My ,n”a o»pn oanwn Xt .. XnL7 R Ve

d
Sp B S, S pown S, = XK ynpy

NN
d
0PI LS, — 2D DN, PYNY

its, HX) e Xp) - itz t\\"
E[ets"]:E{e w t} :HE[e " } = <<PX1 <n>)
j=1
PN ox, () =1+ itpn+ o(t),t — 0 0PN »3 1N, NYd
E [eitsn} — (1 + th +o <t)> — enln(l_t,_i:l#(l-i,-o(t))) "iio ev;f,u
n n
T L AP NYHN DY TPNNTINFDI0N PrTA R
:0”PNNY 10 DV, NYD
P(Sp—p>e)+P(Sp—p<—¢)
€
P(Sn_ﬂz 5) + Fs, (k=€)
1=P(Sa—p<5)+Fs, (e

€
1= Fs, (n+3) +Fs, (n=o)

P(|Sn —pl =€)

VAN



NV Fg, (b—¢€) — 0 9apy Fu(z)
0 z<p

W1 P (|Sp — | =€) = 0399 Fs, (p+5) — 1

1 x>
{ =H v oM L Fs, — F, N9Nwn 0ad

(59199 29 NNYINN) VaVYN

aval

Vi = cov(Xi, Xj) i = E[X;] 9no ox (@) = D=5 = sopm a1 X

JPDOV N oo V

FalA~10)

Y = (a,X) = 2?21 a; X; ~ @MTN 0> @ € R o oomm a1 X o (<)
@y (v) =199 90T MNYN SV YAORN PEPNAN DX DYTY 125 DN N (p, 02

)2

)
(vo

YN, B[] = et e

2 n

n 2 n
0'2 = Var (Y) =F (Z aLXZ> - F Z azXz
i=1 i=1

i,j=1
= Z aiCOV (X“ Xj) a; = EV@t
ij=1
po= E|Y aX;| =Y aE[X]=) aju;=(a,p)
j=1 j=1 j=1
2gvat

DPPNNY 29 DWW Ny Ly (v) = eXBRUTE 5apy 2N

—vat

B[00 = g (1) = oy (1) = =

- avat
Y = (@ X) = m o9mm 11 X v AR ox (@) = EDT oy pyy (=)
NN 'Z?:l anj
,U2EV26t

oy(v)=E [ein] - E [eua,xw} = ox(av) = i (Asa) v—

S MININD INYY 9N MHNYHN NN Y 1991 000N MNUN DY FHYIN iP8pNs »

n

Var (Y) = Var (Z ain-> = Y a;iCov (X;, X;)a; =ava'
=1

ij=1

IYON NN DM MY

X, = 2k oy X E L X5~ N(0,1) v (03100 niavann) vawn
1 ? n )

=E | > a(E[X:X;] - E[X]E[X;])q;

n

tamy omn T w8, = LS (X - X))

:D”PNN YN ANIN




Var(X,) =

(X = Xa)? = 0 3 (X - 2, X4 X3) =

1 i=1
1 n
_ 2 _ Y2
= (ZX an>
=1

1 n
n—1 —

1 n _ _
= : [(Z Xf) —2nX2 +nX2
o
=1

?

FES,] =2 (n—1)=1019219 ,E[X?] = Var (X)+E[X]?> = 1 ooprn e

~ n-1
PNNMA0ITV] V1) NYD
1 1 1
v N N
L - 0 0
2.1 V21
1 1 —2
A= 752 V32 V32
. . . 0
L L L R (et Y
\/n(n—l) \/n(n—l) \/n(n—l) n(n—1)

DY ~ N(0,I) vawn 295 139 ,oonnnn 0 A nvaonn .Y = X A" »1n
moa Vi, .., Y, 199 Vi # j o Cov (Y;,Y;) = 00 yan vioa (TN nyavn
05N YN D) DN 199 DMININN

SPXZE =0 V2 s YYE = XA (X AN = XAAXT = X X! o9pnn
199, Y2 = nX2 qona

(n=1)Sy =3 X2 —nX” =¥ 4 4 Y-V =V 4 1)
i=1

Xn ~ N (0,1) 39 nX,’ = Y ~ N(0,1) opmm ,qoma .(n—1)S, ~ xn_1 139
52p) T2 950 25wy DN, 0MON NP X, Y (n—1)S, D T ©9apn n"a Yitw 7om
X\/n

% ~ tp_1 VAYN 29

1217 HY DYINVINTNNT HY ITNOPND IPIYNTIN) VIYN

AN 2arn Lo -nn (M, F,) o

E (M,
P<max Mj2a>§(")

1<j<n a



NNY DT PTI) ANIN
T(w) :=min{j > 1| M; (w) > a}

)Y (MDD w PN DN ,00 IN)

121]82(71 iZa ( — n) [ {7 <_”}} — {r<n} O
——E[Z M ] <*E[M ]
{-r<n} TAN| = TAN

PN

$(L2-3 993009 MDIann) vawn

NN M, € L2 0 9350 10 930 m (M, F,) o
supE (M?) < C < 00 <= ZE ((Mn - Mn—1)2) <00
n n=1

;M NIPPa

ow ,M_1 =0 ™ @m0

n

My, = (M, — My_y)+(Mp_y = Myy_p)++ - +(My — Mo)+Mo = > (M; — M;_1)
=0

@ > 7 999 DYPNNY 12103 POMNIN VO I
(M = M1, Mj — M;_1) = E((M;—M—1)(M;—M;_1))=

E(E((M; — Mi—1) (M; — M;j—1) | Fj)) =
= E((M; — M;—1)E(M; — M1 | Fj))

92N
EM; — M1 | F;) = E(M;|F;) —E(M;—1 | F)) =

(M; | Fj) —EEM; | Fimr) | F) =
= E(M; [ F;)-E(M; | F;) =0

|
&=



1099 9P OONNNNIN PPN 1ON

n

n N 2
=E ; (M — M;—) Yy (M; —M;_) orthomnaits ;E ((Mi — M) )

j=0

MIDN Y1290 HY NONINN ONX P DX DIONN NON :NNIYRIN MPPYN NN DDIPNR 109
US> T 959 . AN0N Y N NYD

B (Mo = M)) = B (M —2M, M.+ M?) = B (M) = 25 (M, M;) +E (M)
= E(M2) - 2E(E(M,M, | F,)) +E (M?) =
= E(M?) - 2E(ME (M, | F,))+E (M?) =
= E(Mg)—2E(M})+E(M?) =E (M) —E (M)

, 010NN MOV "D

Ve >03n(c) Vn,r >n(e) :E(M?) —E (M}) = En: E ((Mi - Mifl)z) <e
i=r+1

P9 05w ann L2 Yax owip mTo v s E(M2) —E(M2) — 032

n,r—oo
r2
M, — M

NPV RO M, i> My 99 M, ‘C—2> Mo, .a.8. NN MO1dNNNY NOIND NN
M, 225 My, nnayw ny, n1Tonn

M, (W) — My (W) w € B 9559w 75 ,P (B) =1 ,B np no»p ,m9>

X, 92909 Y55 ,1ad ;217 HY DOIPVINTNND YONDPNN JPNVNTIND NY)

P(max |Xk|2)\> Sw
1<k<n A

2,220 MW My, — M, Dy 52003 ;p > ny, 93
E(Mp - Mnk | ]:p—l) = Mp—l - E(Mnk I ]:p—l) = Mp—l - Mnk

LT OV PINUNTIN a5

E(|M, — M, 2
P max |Mp_Mnk| Z2—§ < (| p - k‘) -
ng <p<npii1 27z 272

Ag

D > Mg IOV D THN NMN 02 M, NITONTNN DY 1)22 NYNNYN %72 TUND

1 1
P(|M _M|—2k+1)§2k+1



P (AL, ) =1 M55 ,P(A,.) =0 2505 52 nnb »ad
MY w ¢ Ay k> N (w) 9999 70 N (w) 079 199 jw ¢ Ao, PN

max |M, — M,,| < 273

nE<p<nk41

My, (w) — 990 792 w € BNA{, npd 99 P(BNAf,) =1 15 ow
Mo (w)
M, 25 Mo, nnxa 15

(1Y YV 939090 MDIIND) LVaVN

AN MY DTN D2OPR D0 (X, Fu)nso 000

N oynd X = lim X, ovp .1
n— oo

Xoo €LY 2
LY X, - X 3
X, =F [XOO \ .Fn] .4

MY TR OPANOYR M, = E[Y | F,] w,Y € £ ox )0 7900 o)

NN

supk [|Xn\ 1{|Xn|>c}] < 7Y 70 ¢ DR,V DTN NPDANOYR NN 2D . > 0o
n

YO e

E[|IXal] = E [|Xal Lx, 5] + E [ Xal Lyx, <] Sete

531090 MOIdNN Vavn 295 199 sup £ [X ] < sup F [| X,|] < co v yan nNon
22NOVPN ON NN VYD OYP X = lim X,

n—oo

El
T X, S X oW MNIND N8 Nyd

c T>c
fe(x)=qz 2| <c
—c < —c

W 2D DOV LYVY N ftw MIRAD P

|fe(Xn) = Xnl = | Xulfx,<er + clix,sep — clix,<—c} — Xn| =

|(Xnlgxa<er = Xnlgxa <) + (clix,<—ep = Xal{x,<—cp) +
(clix,>ep = Xnlgx,>e)| <

| Xnlx,<—cp| + [ Xnlix,>e] < [XnlLyix,jzep = 0

IN +



fe(Xoo) = Xoo| < 5 O 0 925 [fe (Xp) — Xy < §79 72 ¢ X905 WA 105
nn oynd lim fo(X,,) = fo(Xso) 199 TR vynd . lim X, = X

n—oo n—oo
MY NVSYIN MDIDNNN LAVYNI YRNVND 113 139 920N [, (X;,) NN nnoin f,.
PP Pavn N n > N My 20 E|f.(X,) — fe(X0)|] = 07w

E ch(Xn> - fc(XOO)H <

Wl ™

0PN THa

< %—i—%—&-%:a

X, 5 X 1o
EXplal =28 m>m 1 Ae F, o X, =FE[Xo|Fa v mxINS NI
WM EE[X, | Fo|1a] = E[Xp14]

[E[Xnla] = E[Xoola] < B[ X — Xoo|14] < E[| X5 — Xoof] = 0]

E Xy | Ful =X m93 E[X,14] = E[Xoola] 195

79NN DN MO

({|My| > ¢} € Fp, w 59310 nAmin 09 e > 00 Lo m(M,) v M2
Moyl et = E Y1 se | Fa)

o»pnn d > 0 Y55 ,ny>

E [| M| 1101, 5c3]

IA

EEY1gm.se | Fal] = E[Y1m,5e] <

d
ElY[1gysay] +d-P(IMy| > ¢) < E[[Y|1{y|sa] + EEHMnH

A

D290 MY ¢ NN VIV WY LE [\Y\ 1{|y‘>d}j| < 5 VY 72 9T 2901 d MN2Y IWON
m 995 ooprnY ©9apn LE[|M,[] < £ v 15 97 nv

E[|Mu| 1, ser] <

(DN D901 YV PINND PINN) VYN

Sp=X1+---+pon, X; € L1 mavonnomw n"an’ X, X o om
a.s

L2 Y pIX) N X,

n



PN MV myon . T, = 0 (Sp, Snt1,-..) VTN NN
E [Xn+l | T—n—ﬂ =F [Xz ‘ T—n—l]

N0 1<i<n+150

1
ElXpi1 | Tonil= ——FE[Xi+ 4+ Xps1 | Ton1]l= ——FE[Sns1 | Ton_
(Xot1 | 1] ] X1+ + Xy | 1] i [Snt1 | 1]
Y., = %ﬂ VNV B[ Xy | Ton1] = f;jf P9, T NN Sy DY
[aiiiviala)
Sn—i—l - X71,+1 Sn—i—l X77,+1
ElY_, |T_,— = F|———|T_,, 1| = - F T . —
[ L| n 1] n | n—1 nt1 n+1 | 1—1
SnJrl S7l+1 Sn

+1
— — — = anf
n nn+1) n+1 !

O”PPRN )2 M .7on Do N0 (Yo, T-,) 199
Yo, =EY [T ] =E[Xy [T-p]
PN
E[Yp|] = E[|E[Xy | Tona]ll < EIE[X] | T-n]] = E[|X1]] < oo

VN2 DYIAMVOYN VI
Akt X Ly o 3Y o Yo, — Yoo 9390900 mDIdnn vavnn 109

NYDON 95099 DT Y o PO, k900 oy it . % — Y_ o kmaon
MNP Yw 0 —1 pnoad 395 L Foo v oy 0, Foy, =0 (X, Xpg, - )
Mp - X_=c

Xi+..X
n

DOITY OI90N DV WONN 7NN Y92 W T8N . n % e hp

X X
LQE[XQ
n

S"k, a.s.

= E[Xi1]"v 15 {ny} nn»p 199

S"k
= ¢ o),

Nk

VAT ¢ = E[Xq] o,

Nk

H(2mp v 0 — 170 PIn) vavn

Mo N Ty, = 0 (X, Xpi1,.-.) P 0" " Sv 1110 X, X5 onn
oo

23 Y0 NP A € Tog yM0 Tog = | T, 20
n=1

P(A)=1wW P(A) =020 yInA DX WX

N3N

M ,1q4 = 0P (A°) + 1P (A) v~ Tnn vynd Elx] =14 v nN0 ON A € T, o0
LP(A)=1WP(A)=0v v



Vn € Ty : E[n] =n 2w pin nwn noom

Mmoo n € LYQ,T) ox Foo = 0(Y1,Ya,...) IV F, = 0 (X1,...,X,) D
1M € Foo YV MR (2 NOPNIT 090 N 107

D DO M MY 20 vy X, = En | F,] ™0

ElXy | Foal=E[EMN| Ful | Foal = E[Xn | Fooal = X

210 DY MDIdNNN LAYN 19
MY NN 022 NOPN { X, 10 1

227D0YNY RN vyNd X = lim X, o»p .2
n— oo

X, 5 Xo 3

Xoo:E[nl]:oo] 4
Fna 0m onoan 190 € T, oM X = E | Foo] = 1 199 € Foo 19V NAPN2
Xn=FEn|F]=E[n v mxwnm n 5>

R OWM NN, vynd = Enl 099 X, = En] - Xoo = 1 ¥ WO51P YN
Myon

X; € L1 mavonn mw 173 ' X, b XGE L o0 omy s(1onn mint) vawn

oy ,JFp 290 nvsy yr T o JF, =0 (Xq,... X)) S = X+ -+ X, oo
ESr]=E[X1]E[T] oopm nr E[T] < o0

09PN X T2 MNWND D 950 ,TPYNT NN
EX]=) kP(X=k=) P(X=k> 1=)_
k=1 j j

i=1 j=1 j=1

oo

M2

J j=1

b
I

ET =302 P(T > k) wosx )ob
95 S, —np = X1+ -+ Xy — np 930902 [T A n DIDNN NPNYN 19t V)
:Doob 5v 1Yo N2aTN LaYN

E[Sran] =E[T An|p

OYPNN NVNNN MDIDNNN VYN 295 199 N9 MO0 T A n YN

E[TAnlu— E[T|p

10

P(X=k)=) P(X=2j)



DPPNNY 29 DV ,TD OVY .STA, DY NOYYIN MDIONNN VIVYHNI YONYND NNIY NYd

1STAnl <Y IXl - Lransiy < 21Xl - sy
i=1 i=1

:DIDNY PINKRND NN OV NOMNN NN

E

> 1Xil- 1{T>i}] =Y E[IXi|lr=i] = Y E[E[1Xil - Lirza | Firr]]
=1 1

= i=1

N T > i} ={T <i—1}° € F,_17v 25 oW

= D E[la=p BIX [ Fial]l = X B [lren B(Xi[)] =

Z E(Xil| E[1{r>4] = E[|X1]] ZP (T =)

i=1
n

’3 52PN ,Z | X - Lr>4 2Y PNVINNN MOVIDNNN VOVYNI YHNY) ,NY
=1

Z|Xi| L | = EIX[]) P (T 20) = E|Xi|| B[T] < 00

=1

E

NVSVIN MODIGNNN VLAYN 295 199 ,|STAk| NN OON ,D10Y

E[Sr] = E[Xi] E[T]

oonn 2

19090 Y0P Y Ma

N (0,1) ovomnn oy n"a o’ Xi-, X5, ... v
MYV (pn) N 0»p THun vynd oNA .1

Vn > N : max {|X,241],- .-, | Xn24onl} > 5

1MAYY OApNn) N 0»p THn vynd ONN .2

VYn > N: max{\Xn2+1| goany |Xn2+20|} > 5

11



T
Ap =A{w [ max {|Xp211 ()], [ Xn2 g2 (W)} > 5}
A=)
AS ={w | | Xpzq1 (W) <5, [ Xn2gon (w)] <5}

,D5N7IN5 DYIPNN DHNYNNIY PO

2n

1 [P e )
P(AS) = \/—27_/ e 2du = p"
-5
—_——————
0<pu<l

M5 L AS My Ao DN NPN

Ao ={w|#{n|we Al} =00}

(oo}
P (Ais) =0 ovpnn ,Z P (Af) < comw 15,1 503752 nnd 29
n=1
PO wg A5 n > N (w) 995 10 N (w) 079 135 w ¢ Ajo. NPM
Vn > N (w) : max {| X241 (W), | Xn2pon (W)} >5

210 MYV PN

02 0N DYANN O~ X, "N *D 00N *NDA P 1ON 0N ;T 19N A, v

A7ann IMAANoNN M0 Y P (AS) = p20 Yapy oyan . > 10 939
2 AN XY Myvn W P (A ,) = 1,2 250397512 nnb »ad S50 Toa

2

N (0,1) oavannn n"a n"n X1, Xo, ...

7PN vyNd | X,| > v2Inn OrD
7PN vyNd | X,| > v3Inn orD

1
RN vyNd | X, | < — ONN
n

1
270N VYN X, < — ONN
n

12

[HARkD)

d

29390

P

1

2



VNNDD DX P1T72)
A, = {w |1 X5 (w)| > avlnn}

NNDNI VNnv)

1 _22
P(N(0,1) > 2x) > Nz ey p
WNN
1 _2?
P(N(0,1) >z) > me 2 =
1 _ (avhin)? c

e 2 ~ —_—
Vor (a\/lnn + 7\/117> a=v2 nVinn

P (A;,) = 190p 5122 »wn PHNN 285 1991 ,9T7201 NOM OMON MNS2 NN
S }a) )

Yw e A; o3 {nk(w)}Vk :w € Ay, = | X, (W) > V3Ilnn

22 N7 NN 199

Y50 DONA WHNW ;o = /3 Ny .

1 22
P(N(0,1) >2) < e
2rx
O8N
1 a2 Inn ]. a2 C
P(Xn>om/lnn) <—e 2 =—n 2z < —
o T V2ravinn av22rlnn a>v32 ns

P00 YL
19 N (w) 07p w € Af, ymyna )25 P (4i,.) = 0,1 00p~5ma nnb »ad
NO NN NN DY w ¢ A, 0> N (w) 9o5v

YINDD DX PYTA)

1
An = {w | |Xn (LU)| < nﬁ}

oM a0

P(A) = — / "y

n) = —F/— e 2du

V2w J_p-8
PPN
1 2 2
= <P((A,) <
V2B 22mnf T (4n) V2mnh

13

[HARkD)
1



™ aTann ZP(An) MON IONDYD PNYNTINT NYY 1PN L0 = 1 YN
n=1
(omOn-nba X, D) omdnnda A, MyNINnd
P (Aio) =1 ,2°50p"9M2 nnd 195 195
A X, ()] < % NMIAYY Ny, NITO NOYP RN jw € A;,
P (4;,.) =0,1%0p"9M2 nnb 295 395 ;035m0 9" on 5 =2 oN .4
Y wé A, n>N(w) 9w 15 N (w) 0P 7N jw € AL oM
1
Vn > N (@) X, @) > —

NO N N2WNN 190

3 990
Xn, = X ¥V 10 n, 0770 NN 5" X 5 MHINoNa nodnny n"n 5w 1110 X, NN

.TNnh VYNd

NN
W TD g, 0P Ao k 935 195 e > 0 939 P(|X — X, > ) — 0 namin b

NG AN NYpann MITon nn v P(1X — X, | > 55) < 9%

P(A) < 9 nPnansasw 25 oy A = {w € Q|| X (w) — X, (w)] > 55} P
ST P(Ay) <0029
wNana AS ) NN ow LP(AS, ) =1 95 ,P(4;,.) = 0°503p 5132 nnb »ad

Ag = {w € UE ] X ) - Xy > 57 | =

{w € Q| FkoVk > ko @ | X (w) — X, (w)] < 21k} -
C{we Q| TkoVh > ko : Xn, (w) = X(w)}
=P
1=FE {eiN(vafz)] P(AS,) < P ({w € QFkoVk > ko : X, (w) = X(w)})
Y IINY N0
P ({w € QTkoVk > ko : X, (w) > X(w)}) =1
RN vynd X, — X o7

(2291991 £9909) BI201N NN MIANVH

a; € {0,1,...,0— 1} :b ©va3 z 1000 Yv N = Y 0 T = 0.x1T3 ..., O
OYPNN ;DY MIDONNN NN PAND NN

14



.02 ©INYNN 1PN
DT DIADN SV PINN PINA 295 1951 TIPINOPN 1y, g,y DV

n

1{a:i:ai} as. 1
2.

=1

T =Y = 0.21T2...pm ON MY b D™ DDIY VIO , DDA YD N M

i=1 pmi
oPpNm N2 x; AN x; € {0,1,...,6™ — 1} oyan IwNd
n
lip.—a. 1
Z {z;=a;} cus}.
‘ n bm
=1

APy Wz = 000 ST Amnkk gywy e P Dy

{Tmit1=0a1,....Zmitm=0m} a.s.
E =
n bm

i=1
TN DY NN (NN 993) PNOPR 98I wan {aq;}; NITONY MIInNonn w

DM OY POIN DY NOIN WD NNIY MIAN0NN
NN 77N Yy 01000 ,0 < 5 <m — 172 Y0 RNONA DPTYNRN NN D)

m—1n—1 1

Z Z {xmi+j+l=a17~~-7xm,i+]’+7n=a7n} a_‘>‘> 1
— £ nm bm
7=0 =0

. . N
10 9apy k= mi+j 3 o P, TS 1 ovpn N = | X -w 15 Nom

N

Zﬁ1{xk+1:a1,~--,rk+m:am} as. L
nm N bm
k=1
OIND PANY NN NN
MVINM DITNVOIN
Y10 ,x; € {0,1,2} ,x =0.x129- - = 3—11 €10,1) > ,f € L1 onn 11 90
=1
K3
=1

15



o»pnn z € [0,1) 55 vyNd NAYY NN

En+37"
@@= " fwdi s f@

n

RIRFID]
oo

Foo =0 <U ]-‘n> 1 C Fo Coc m3) 00 5V ODIYVIND MDIONNN VOYNI R
n=1

N Lf € L1

E(f | F) 25 B(f| Fao)

DTN OV 9NN

k kE+1
F‘ =0 - = < n
n <{[3n7 3n >|0_k<3 }>

Sy M9 | F, S 0Nvn Dy ;T1ad pravn Lf, () = E(f | Fr) ,n 935% momind Ny
E k+1

) AL = [,
3n’ 3n

> € F,, N8N Dyvp

k:L’Cl+CL'2'3+"'+1'n'3n71

| In(@)do = /A k (3” / W du> dz

paip)]

n

A NID 9N DNOINRN DY TPNDVIND YOP 1N £, = 3% OPPIN ,x € AR~ WD
122

N Jn (%) dr = /Ak (3" N (u) du) dr = {Fubini} = /Ak (3" N f (u) dx) du = N f (u) du

2”0 Y L fy, () = E(f | Fr) moxa o)

2 990
N8N
_1 _1
. 1 1 1 xl 3 + e + Tn 3
lim Py ... cos dzy...dx,
n—oo 2" J 4 -1 Vn
909
4= 32X non oy Q= [—1,1] MIANDAN NN IR VTR

16



MToao Y, = X[1/3 oy v X, , X, ~ U(=1,1) 0»pnn 0anvna nam
Sp=Y1 4+ +Y, ™

E {cos(ﬁ)} 5v NYMINN DYYa NN 973N NV2ANY 19 DW) NYd

Vn
E cos(%)} == ¥ 902 RXDINN NN LIAYN 295 NYONN MOIDNNA YHRNYND NN
2917 PN Manwn NN N WROE [cos(NV)]
Y 5w nmvim nominn N awn)
1 1 13
EYi] =5 /m(x)dx =3 /:fl/i”dx = §§[x2/3]£1 =0
E [Y»z] _1 Y2(x)dx = 1 ™3y = 13[x1/3]1 =3
‘ 2/ ° 2 2 -t
Var(Y;)=E[Y?]| - E[Y]]*=3=0=1V3

% —d> 21NN 21200 VIV 9D 1551 OMVN PNYA NVOANN MY DINWN 0N Yy, --- .Y,

NYON MDIdNN 295 1951 NMDN NN PPN NN cos IV (0,02)

E [ (j%)] — E [cos (N (0,0%))]

NN 212N 1M

L=E]cos(N(0,0%)] =FE 5

eiN(O,UQ) + e—uv(o,ﬁ)] 1

DN =

1
=3 (en(0,02)(1) + ©Nn(0,02)(—1)) =

L= lim,, o0 fol .. fol cos (M%) dzq...dz, 95200 DX 2vN
nTn oy [0,1] MIANDNN AN Sy DTRR X; 0PIPN DHINWYNI ;79 DN PN
0192 ,0 = 5= N Var (X;) = 15 1 E[X7] = 37 E[X;] = 5 07pmn 22>

2MOINN 912N VYN 29D VD
Xi+---4+ X,

Vn
52P) ,N9NT PPN cosTVY NPN .AYIN MDIdNN W 9D
. 2 2
ezN(O,a ) + efN(O,o )1

- N (0,02)

L = E]cos(N(0,0%)] =E 5

1 1 1
=3 (en(0,02) (1) + en(0,02)(—1)) =€ 21 cos ()

17



4 909N

N IvNn

lim 2”/ T1...xpdzy ... dxy,
A

n— oo

n

IYND

Ay ={(x1,. .y 2) €10,1]" | 3 (21 + - +x) > 20+ v/}

oWNNN NXR VAP Ly = :c? DHNYN NAYNN Y8 ,TPUNT PN

A;,:{(yl,...,yn)e[0,1}"|3(y§+~~+y§) >2n+\/ﬁ}

52y ,0NYNN NASNN INND
2"/ xl...xnd:rl...dxn:/
A A

/
n n

dyy ...dy, = / I(A])dy;...dy, =P (A))
[0,1]"

o Yy, ..., Y, N TN 530 nrn n A e L([0,1], A, B ([0,1])) Yy Sono
Y1, Y0 199 (Y1, .-y Yn) 99 MOPTINIPN NN DIXPHIA DT 2NN DPIPNN DINVHN
.0, 1]72 PTAR PMIYINNA DI09NNN ,0MONTIN0I DPIPN DINYN DN
5 19 OW)
1 Loy 2 3 1 2
E(yf):/ Sy = 2y2| =2
i . Yi i = 3Yi .3
P9
1 1
\ o D) (D)
= ey € |0, > —
n (yl yn) [ ] | O'\/ﬁ 3o
10 DN 2VN)

NI DDOINRN YD

- p (le§)+...+(yn2§)>; cur 1_@(31>:1_¢

2

18

1

1
3/ 18




15 99N
91200 NN avn

,}LH;O fol e fol sin (W)dxl dwy,

BARFI)

X1, Xy ~ U(0,1) 10 239 nrn oy Q = [0,1] mMH2anonn anna nam

DTN OI90NN DY WIONN PIND 290 .NNYONN MY DNYN N DAIPN DINYN
B[f(Ft=tXa)] — orpnn f nosa mspng 959 ambs ,nwon modnna 2t ie s By

B[f(B[X1])] = F(E[X1])

v 2 DV ,NYd

n— 00 n— 00 n

lim [ [ sin (2tt2n) dg, - dp, = lim B {sin (M” — sin(E[X,))

P9 E[Xq] =4
li fl"'fl . (x1+...+1;n)d cod o 1
nL)H;o 0 o Sin (=2 )dxy T, = sin 5
1
P(s;=-1)=P(s;=1) = 5 DNIAYY OPIPN DINYND S, 82,... PV 16 9N
MNONY INOIN
1
Z ﬁSn c o Sn+k
n=1
k955 nn vyns vIonn
PN
Xn = L850 Spgk € F "R Fy = Ty [T = {—1,1}" [ T1 = {-1,1} ™
,90N2

1 1
E (Xn | ]:n—l) = ESn . 5n+k}—1E (Sn+k | ]:n—l) = ﬁSn ce Sn+k—1E (8n+k) =

_! 1 1-1—1 = =0
= nSn e Sntk—1 D) 3 =

5 29 W)Y .DWIAN DYV BN X, D»IPNN DINYHN )00

1 1 & 1
E(X2) —E (Tﬂsg _ ..Sg+k> S S ILICE
j=1

n o0

M, = Z X1 939000 ,£2-2 9932090 MDIdGNNN VYN 95 Z E (X?2) < oo

k=1 n=1
STNN VYND OIONN

19



03 199 P (Bg) = 0135 .03500 1N MON 12v Yy INDD IR B2 1903 Lk 935

P<G Bk> giP(Bk):o
k=1

k=1
k925 nn vynNd UIdNN NNNA NVN MDD

7 9990

2 €[0,1] 939 vyns v 307 | L sin? (2775”4J:> MOAY NN
n3

W B, =Ty, T, = {[&, 5] [0<k <5} )Y, = sin®(275"" ) 1003 :yne
qoma Lt < nt +n < (n+ 1) oopv T 10 XpNT Nt ©M3) ky, = nt +n
tn = Zn — E|Zy|Fn-1] Zn = E[Y,|F,] € F, viv

D0 T OV T =1 ..., MNP V) 1,"0 TIND MIPY ,Z, 70 TIND P Y, "W oD

E[f|T,] =5" f£“+57" flu)du w & =21 ...y, PTINS
DPPIN NYNRIN PINN MY

€k +574n
|Yo(2) = Zn(2)| = [Yo(z) — E[Ys | Fy]| = Yo — 5P / Yo (u)du| <
k

“n

Ek"‘b +5_k/n/
< 5o / 1Y, () — Yo ()] du =
€y

JINTD VAV VNNV NYD

k5700 4 4 4
= 5n / |z —ul-3-|sin®(275" x) - 275™ cos(275" x)|du <
Ekn
W [ERntBTER W [EhntBTET
=< C . 5kt / |z — uldu < C - 5Fntn / 57 ke dy, =
€ky, €kp

1
=C. 5t 5 05 R = 05 =0 <2>
n
VN PONN

tn — Zn| = |E[Zn | Fn—l]l - IE[E[Yn ‘ Fn] | Fn—1]| = |E[Yn ‘ Fn—1]| =

E’Cn71+57K"_1 5k‘nfl+5ikn_1
— |5kn—l/ Yn(u)du\ — 5kn—1|

Ekp 1 k1

3 n*
sin (2775 x) du =

4 4
n nt—k,_4
5" &k, 115 n

4
— 5]€n,—1—n | sin3 (27TU) du‘ S
4
5™ gkn—l
k —nt —4an346n273" 1
< RFn-1 =5 =0\ —&
= n2

20



Jta] < 1Yal +0(52) < 14 0(35) < ¢ 07prn 03

n2

D OYPIMY =5, NI TIMDOPNRD SNVOYNI £, NNPY WON Y, Dpna 01>y
n

2
S i%tn VOV 299 129 ,E';’f:l(i%tn)Q <3 <5 < oo 0N E[i%tn|Fn_1] =0
n n n n
T TN LYND DIdDNN
:8 N
2 € [0,1] 53 vynd May [—1,1]-2 NM9x NN cos (27T7"3x) ,n € N n7700vw oo
PN
3
,[0,27] 2 novay {27r7" x} Y 1720 290N ,WNa NN TPNPNS N cosTY D

.J0,1]a nmsx{?"Sx} "YW MY

3 . .
e =300 wte = 0.3 T 1 Tpagp - 10T = 3070 £ 17 0702097 7 IN IN)
a4 = 0.a1a2a3 -+ 7 ©Y218Y ¢ IR WD 2OV IMNa N0 U nm a € [0, 1] »m

U= (0.a1as---ak, 0.a1as--- (ax + 1)) 2"na ,ny>

AWANY MDINNT @ N VAN a ¢ U 2D 75 DIWAD MON IN MDY 0 NN a; NITON DN)
([0, 1]2 oor9x DN 3 *9IPNT N NINY MDD

DPYPONY T NYd

n
Z 1(-7«'n3+1=‘117---»-'E"3+k=uk) as. 1
N Tk
n=1
3
U~ s €Tpei 1 €T
U-2 nn8md 277 NITONY 2PN N0 W 93D VYN MDD
U721 oy 9”30 N7T02 DN W 1vI9a
3
,[0,1]2 novax {27r7" x} 125 ,U 15w 220 Y99 (9387 N) a € [0,1] 935 oy e
.MYON DX NNV N

9 9N
L p= % 1
MNOY MY OIRNN OInvnNn .X; = ) 7 9O5MMa oadannn Xio, ... v
-1 q=3
SRR VYN 1 NN DNYS NOYN DAND N2YY MIIANDNN D NN PN DY
P9

Y™ F,=0(X,,.. )V S =X+ + X, 100

om0
o fem (5

P (A.),P(As) € {0,1} 9393 ,0 — 1 27m>p pin 299 o9 A, Ae, € Foo N
07PN TN

P(A.,) > lim P(j’l>c): —c1>(5)>o

n— oo n

21



P(A) =107 A, = A, NA;,, 035 .P(Ag,) =11 P(A;,) =19
Sy = —00,5p, —> 007V D Nk, My MNDPP w 935 VYN 1O

SV 11321 299) 1991 ,00Y9 NOYN DXIND PONNY NITO NNAD 17 1DON MITON PN
DY MOYN DN N1AYN (PONNN

:10 9990

Sp =™ PY =1) = P(Y = —1) = £ v 15 7”1 0pn oHnwn Y, v
RN MIPNN DY 9N ANRY N 99 .7, = min{n|S, =a} >, Y;

N9

NINW 1PN 71T TN bynd 071 Ny NOPN MY S, ¥ NNTIPN NONY PRI 92D
LDTYN OV M0 190N MINKR @D D) WX NIN NION J9Y (INNID D1T) 1901 D30 wn
SPRN VYN XNOT, © MDD

2099 (E[Y;] = 0)E[S:an] = E[T An|E[Y;] =0 -v w1 .E[71,] < 007w n) nyd
Wwon LE[S;] = a M2 S; (W) = a0 E[S;, ] = Elr,]EY1] = 0 1Toxn mme
Elry)=00,a#0951 a=0

MY Top YW NI @ = P(Tep = Tg) DN WM .7, = min{n|S, = a,b} N
720 WRY S, an(W)] < a+ b wad ow LS PTNS I 190 TN vynd
DIPINY

E[S;,,] = lim E[S; ,an] =0

n—oo

P(1ap =7a) = 225 M3 a = b5 199 B[S, ] = aa —b(1 —a) = 0 91r

a+b
moPNNN vavnn 19 L E[SZ] = ST | E[X?] 07pnn LE(7,,5) DN 2WNY N7 Ny
NOVNN
o o 2 _ 2 1_ 2 2 4
Blrasl = lim Blrapin] = lim BIS;, il = EIS7, | = a” g #0707 = ab
:9"no

P(rap=174) = a%—b 1

Elrqp] = ab 2

Er,] =00 .3

omp 9m P (Spio). =1 .4

TNN VYND T, < 00 .5

22



